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Supplementary Figure S1. Mediation effect of height and BMI on the association of dairy product intake

with the risk of fracture compared to no consumption among subgroups among (a) Men with dairy

product intake of 0.1-100 g/day, (b) Men with dairy product intake of >100 g/day, (c) Women with dairy

product intake of 0.1-100 g/day, (d) Women with dairy product intake of >100 g/day, () Women aged >

45 years with dairy product intake of 0.1-100 g/day, and (f) Women aged > 45 years with dairy product

intake of >100 g/day. Data are regression coefficients with adjustment for covariates (including age,

educational level, city of residence, individual annual income, smoking history, drinking history, chronic

disease history, physical activity, intake of energy and total calcium). *P<0.05, **P<0.01, ***P<0.001



